Math 123 Sample Solutions for Exam 1 Short Answer

1. Find the average rate of change of f(x) =+/3x+1 from x=2 to x=8§.

AROC = f(8)-f) _ Jawy«er - [305q

5-L A

G

—

hmémwj

2. For what value of b is the function f(x) continuous at x=37?
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Math 123 Sample Solutions for Exam 1 Short Answer

3. Use the limit definition of the derivative to find f’(x) for f(x) =3x” +x~5. (You must use

the limit definition to receive credit.)
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4. Suppose a linear function f satisfies f(4) =5 and f(—2) =3. Find f'(2).
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